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5.4 Supplement: Additional Curve Sketching

Graphing Strategy {0, Objecthe: Praw {0} apprexiurely

1. Analyze f{x). ex) .Ry ) e
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4. Sketch the graph of f. Create a combined number line that shows the “shapes™ of the graph, then draw the .!. \L

graph using all the pertinent information you found in steps 1-3.
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Example: Use the graphing strategy to analyze the function f{x) = v e 12
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Example: Use the given information below to sketch the graph of f. You must include sign charts with perti- T 1
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Practice: On your on paper, try using the graphing strategy to analyze the function f(x) = 2t Staeall pertinent
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information and sketch the graph of f.
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